restart
Sstema := diff (x(t), t) =3-x(t) +4-y(t), diff (y(t), t) =2-x(t) +5-y(t) : Sstema,; Sstema,

d _
o X(D =3x(t) +4y()
% y(t) =2x(t) +5y(t) 1

Solucion := dsolve( {Sstema}) : Solucion;; Solucion,

x(t)=_Cle''+ c2¢é
1

y(t)y= cl1e''— 5 _c2é )
Condiciones:= x(0) =5,y(0) =-3
Condiciones:=x(0) =5,y(0) =-3 3
SolPart := dsolve( { Sstema, Condiciones}) : SolPart;; SolPart,
_ 1 7t 16 4
X(t) = g€ t3¢€
_ 1 7t 8
y=-5e —2¢€ 4
AA := array([[3, 4], [2,5]])
|34 )
125
with(linalg) :
MatExp := exponential (AA, t)
2 4.1 7t 2 7t 24
3 e+ 3 e 3 e 3 €
MatExp:= 1 1 1 5 (6)
1 7t 1 ¢ 1 4+ 2 7t
3 e 3 e 3 e+ 3 e
MatExp[ 1, 2]
2 7t 2 ¢
3 e 3 e @)
Xcero := array([5,-3])
Xcero:=[ 5 -3 ] (8
Sol := evalm(MatExp &* Xcero) : x(t) :simplify(SoIl); y(1) =simp|ify(SoI2)
_ 1 7t 16 ¢
X(t) = 3 e + 3 €
_ 1 7t 8 ¢
yty=-3e —3¢€ ©
SolPart;; SolPart,
x(t)=-= €'+ % e

1N\



1 7t 8 ;
ty=-= _ =
y(t) 3 e 3 e
evalm(MatExp)
2 ¢+, 1 7t 2 7t 2
3 e+ 3 e 3 e 3 €
1 7t 1 3+ 1 ¢+, 2 7t
3 e 3 e 3 e+ 3 e
evalm(AA)
34
25
DerMatExp := map(diff, MatExp, t)
2 ¢, 7 7t 14 7t 2
3€T3¢ 3 3 °
DerMatExp := 7 1 1 14
s 7t__ { L 414 7t
3 e 3 e 3 e+ 3 e
evalm(AA &* MatExp)
2 v, 7 7t 14 7t 2
3€T3¢ 3 3 °
7ot 1 ¢+ 1 ¢+ 14 7t
3¢ 3¢ 373
Identidad := map(rcurry(eval, t ='0"), MatExp)
0
|dentidad := ]
1
Inversa := map(rcurry(eval, t ="-t"), MatExp)
2 t,1 7t 2 -7t 2 -t
3¢ T3¢ 3¢ 3¢
Inversa:= 1 1 1 )
1 7t 1 -+ 1 -+, 2 -7t
3 e 3 e 3 e + 3 e

Ident := simplify(evalm(MatExp &* Inversa) )

1
ldent := [
0

= O
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